> A
N & 0l & Av S Z M A
SN BE=SXD
HE: DE=N 34 Y 2
el 2R X4 Qe CERED
SA BB (S) - MRAY - BAS 0l &k o4 p/E-T Hl DS 2
2= 6,751,151 4,798,110 1,953,041
2 1,530,787 715,575 815,212
2 720,000 720,000 0
Al 1,008,212 403,888 604,324
- 3,492,152 2,958,647 533,505
DA T4 L 22 1,923,669 1,431,569 492,080
Al 210,000 0 210,000
- 1,713,669 1,431,569 282,080
Iz x4 L 22 942, 185 551, 185 391,000
Al 210,000 0 210,000
- 732,185 551, 185 181,000
TAZE 24 U B2 652, 185 467,185 185,000
Al 30,000 0 30,000
2 622, 185 467,185 155,000
401 NEHIL 2 THYI 365,000 180,000 185,000
Al 30,000 0 30,000
2 335,000 180,000 155,000
01 A&l 365,000 180,000 185,000
2 BoA&S B A 120,000,0002 120,000 70,000 50,000
YH2UTE =203 S UMY
50,000, 000! #141 50,000 0 50,000
TRZHEHBE SH’S £X 30,000,000& =14l 30,000 30,000
Al 30,000 30,000
UMDY EHER ¥ SO0 &x
15,000, 00024 *14} 15,000 0 15,000
TEIMEZE SBMN HS2e 89
10,000, 0002 *14} 10,000 0 10,000
WOMBHSH ¥ SUKE0I &X
15,000, 00024 *14} 15,000 0 15,000
De0tS 2R mnet X 15,000,000 « 14 15,000 0 15,000
TA MEEATY TS (HEAY) 110,000 84,000 26,000
401 NEHIL 2 THYI 110,000 84,000 26,000
01 A&l 110,000 84,000 26,000
e 2IIOIE S AEST 4™z F)
2 76,000,002 76,000 50,000 26,000
syex =K 2o 80,000 0 80,000
Al 80,000 0 80,000
401 NEHIL 2 THYI 80,000 0 80,000
Al 80,000 0 80,000
01 A&l 80,000 0 80,000
SysX BR=X el 80,000 0 80,000
Al 80,000 0 80,000
GYEYTH HTA HE 100,000 0 100,000
Al 100,000 0 100,000




SN BRSXD
Iy DA=K £ L 22
el 2R X4 Qe (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
401 Al41 1 2 = CH | 100,000 0 100,000
Al 100,000 0 100,000
01 A&l 100,000 0 100,000
5y SYBE AP HEAMY
100,000,000% * 14! 100,000 0 100,000
Al 100,000 0 100,000
4 =X0 x4 2 981,484 880, 404 101,080
2% ¥ 3ZBUE 157,759 56,679 1,080
201 Yer2 bl 7,080 6,000 1,080
02 B2 6.480 5,400 1,080
®123 2,160 1,080 1,080
AT, B A 2,160,008 2,160 1,080 1,080
24 AT 2 2e 329,415 299,415 30,000
401 A4l 2 = CH | 140,000 110,000 30,000
01 A&l 140,000 110,000 30,000
Es WY 3% 70,000,002 70,000 40,000 30,000
Se=N0 T4 o 494,310 424,310 70,000
401 Al 2 = CH | 190, 120 120, 120 70,000
01 A&l 190,120 120, 120 70,000
=X0 BUI(HE, A 100,000,0002 100,000 50,000 50,000
BXBY S AMS B ZEF 30,000,000 30,000 10,000 20,000
ST el 4,350,561 2,894,037 1,486,524
2 1,530,787 715,575 815,212
2 720,000 720,000 0
Al 798,212 403,888 394,324
2 1,301,562 1,054,574 246,988
o2 TH 5 04l 2 2,065,726 865,726 1,200,000
2 1,014,790 223,090 791,700
Al 370,597 79,927 290,670
- 680,339 562,709 117,630
GEFSHA PE L Y (ALY 13,266 16,464 £3,198
2 5,306 6,586 A1,280
Al 2,388 2,963 ABT5
2 5,572 6.915 ~1,343
201 Yot 2 bl 13,266 14,945 A1,679
2 5,306 5,978 A672
Al 2,388 2,690 A302
T 5,572 6,277 AT705
01 AR 22l 13,266 14,945 A1,679
SGETS A 33 0¥ 0 1,679 A1,679
2 0 672 A672
Al 0 302 A302
- 0 705 AT05




2N
X ZH -
L= B

el

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
202 01t 0 1,519 A1,519
= 0 608 1608
Al 0 273 ~273
= 0 638 1638
01 2ot 0 1,519 A 1,519
MEXE ES0 23 o 0 1,519 A1,519
= 0 608 £608
Al 0 273 ~273
- 0 638 £638
USPENT(HE) 66.000 0 66,000
Al 50, 160 0 50, 160
= 15,840 0 15,840
401 Al HI L 2l 66,000 0 66,000
Al 50,160 0 50, 160
= 15,840 0 15,840
01 A&l 66,000 0 66,000
dERxNY 66,000,0002 * 1km 66,000 0 66,000
Al 50, 160 0 50, 160
- 15,840 0 15,840
LR R 1,131,000 0 1,131,000
= 791,700 0 791,700
Al 237,510 0 237,510
- 101,790 0 101,790
401 A& H L 2Ol 1,131,000 0 1,131,000
= 791,700 0 791,700
Al 237,510 0 237,510
= 101,790 0 101,790
01 A&l 1,131,000 0 1,131,000
srEgolee 1,131,000 0 1,131,000
= 791,700 0 791,700
Al 237,510 0 237,510
= 101,790 0 101,790
THtar e zel (B a) 6.198 0 6,198
=2 1,280 0 1,280
Al 3,575 0 3,575
-2 1,343 0 1,343
201 Yet2 | 4,679 0 4,679
=2 672 0 672
Al 3,302 0 3,302
e 705 0 705
01 AbR 22l 4,679 0 4,679
MEXE ZAH 1,679 0 1,679
= 672 0 672
Al 302 0 302
= 705 0 705
NEHY B2 KHH P 3,000 0 3,000
Al 3,000 0 3,000




2N
X ZH -
L= B

el

2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hns2Z

202 014 1,519 0 1,519

=2 608 0 608

Al 273 0 273

=) 638 0 638

01 20l bl 1,519 0 1,519

MEXS ZS 0 1,519 0 1,519

=2 608 0 608

Al 273 0 273

=) 638 0 638

MERE XS 2,284,835 2,028,311 256,524

2 515,997 492,485 23,512

i 720,000 720,000 0

Al 427,615 323,961 103,654

= 621,223 491,865 129,358

ALRITHOH L Kbl &I (A2 H NS O = RS (FA) 226,112 179,088 47,024

=2 113,056 89,544 23,512

Al 33,918 26,864 7,054

=) 79,138 62,680 16,458

401 AIEHI 2 2 OHH] 221,112 174,088 47,024

= 110,806 87,294 23,512

Al 33,248 26,194 7,054

= 77,058 60,600 16,458

01 A& b 221,112 174,088 47,024
ASHN S E YRS (ZA)

2 221,112,0008 221,112 174,088 47,024

=2 110,806 87,294 23,512

Al 33,248 26,194 7,054

=) 77,058 60,600 16,458

LT H TR (HBAY) 136,000 160,000 ~24,000

Al 121,600 136,000 14,400

= 14,400 24,000 A9,600

401 AIEHIZ 2 OH L] 136,000 160,000 ~24,000

Al 121,600 136,000 14,400

= 14,400 24,000 ~9,600

01 Al&Hl 136,000 160,000 ~24,000

=2 zH 2= 96,000,000 96,000 160,000 A 64,000

Al 81,600 136,000 54,400

= 14,400 24,000 ~9,600

TESRPEL Ha (RS AZWAAY 40,000 0 40,000

Al 40,000 0 40,000

L MU=XNT2Y 2 2 XV 76,800 51,300 25,500

= 25,500 25,500 0

Al 7,650 7,650 0

= 43,650 18,150 25,500

307 QI2+0 & 76,500 51,000 25,500

= 25,500 25,500 0

Al 7,650 7,650 0




AN =0
HE: AYTR 2
Chelr MR =4 (&)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
- 43,350 17,850 25,500
05 RIZt &= 76,500 51,000 25,500
=ol&It 2 (=&t 38)
2 & 76,500,000 76,500 51,000 25,500
= 25,500 25,500 0
Al 7,650 7,650 0
T 43,350 17,850 25,500
SN2 HOAIE AX 100,000 50,000 50,000
401 Al HIZ 201 Y] 100,000 50,000 50,000
01 A& HI 100,000 50,000 50,000
At L BoAIE X & FH
?34 & 100,000,000& 100,000 50,000 50,000
H&E& Fel2d 22 60,000 50,000 10,000
T AEHI &2 60,000 50,000 10,000
01 A& HI 60,000 50,000 10,000
tHad selzd 2eal Z & 60,000,000 60,000 50,000 10,000
& 2tel 3,300 3,300 0
= 3,300 3,300 0
201 Let24E] 3,300 0 3,300
= 3,300 0 3,300
01 At 22l 3,300 0 3,300
AR 28 UHEE S 3,300 0 3,300
= 3,300 0 3,300
401 AIEHI L 201 0 3,300 A 3,300
= 0 3,300 A 3,300
01 A& HI 0 3,300 A 3,300
AT 2tel 28 03 0 3,300 A 3,300
= 0 3,300 A 3,300
20t MEd L (HSAY) 148,000 0 148,000
Al 111,000 0 111,000
- 37,000 0 37,000
T AIEHI SR 148,000 0 148,000
Al 111,000 0 111,000
- 37,000 0 37,000
01 A& 8l 148,000 0 148,000
SO0t=XEd =8 1A 148,000 0 148,000
Al 111,000 0 111,000
- 37,000 0 37,000
HY2HAH (S =X1) 472,634 472,484 150
el 2l 412,679 412,529 150
S84 Hethal X3 150 0 150
301 LEXZ 150 0 150
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